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331 + 970 =
666 + 49 =
548 + 96 =
59 + 931 =
38+ 88 =
71+ 246 =
434 + 60 =
126 + 970 =
642 + 596 =
590 + 599 =
999 + 220 =
879 4 136 =
147 4 553 =
315 + 573 =
185 + 105 =
654 + 192 =
560 + 729 =
61 + 633 =
696 + 544 =
321 4476 =

Addition up to 1000 #7
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154 + 404 =
74 + 840 =
374 + 596 =
519 + 219 =
444 + 428 =
92 + 564 =
846 + 579 =
228 + 645 =
970 + 63 =
406 + 50 =
47+ 570 =
296 + 429 =
120 + 584 =
835 + 698 =
595 + 584 =
381 +99 =
64 + 577 =
210 + 508 =
437+ 795 =
599 + 945 =
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Addition up to 1000 #7 (Solutions)

3314+ 970 = 1301
666 + 49 = 715
548 4+ 96 = 644
59 4931 = 990
38 + 88 = 126
71+ 246 = 317
434 + 60 = 494
126 + 970 = 1096
642 + 596 = 1238
590 + 599 = 1189
999 + 226 = 1225
879+ 136 = 1015
147 + 553 = 700
3154 573 = 888
1854 105 = 290
654 + 192 = 846
560 + 729 = 1289
61 + 633 = 694
696 + 544 = 1240
321 + 476 = 797
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154 4+ 404 = 558
74+ 840 = 914
374 4+ 596 = 970
519 4219 = 738
444 + 428 = 872
92 + 564 = 656
846 + 579 = 1425
228 + 645 = 873
970 + 63 = 1033
406 + 50 = 456
474570 = 617
296 4 429 = 725
120 + 584 = 704
835 + 698 = 1533
595 4 584 = 1179
381 +99 = 480
64 4+ 577 =641
210 4 508 = 718
437 + 795 = 1232
599 4- 945 = 1544



